Class XII Chapter 7 - Integrals

Maths

Exercise 7.10

Question 1:
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If \sing cos’ pde
Answer

Let/ = _[: Jsingeos'ddg = Ll Mmms‘gﬁmw.u’qﬁ

Also. let SN == cosgdg = dr
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When ¢=0,r=0and when ¢ =—,r=1
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Also, let x = tanf O dx = sec’6 dO
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When x =0, 86 =0 and when x =1, 4
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I= f*sin '[ﬂjsec” ado
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Taking®as first function and sec?8 as second function and integrating by parts, we obtain
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Question 4:
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Let x + 2 = £ O dx = 2tdt

When x = 0, Ir:‘-'fzand whenx =2,t=2
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Question 5:

z clx
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Let cos x = t 0 —sinx dx = dt
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Question 6:
r dx
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1
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f dx
Ix® +2x+5

Answer

f d J" d r dx
%t +2x 45 '(:n;:+lr+l)+4 '{,1:+|}:+{2}j

letx+ 1 =t0Odx =dt
Whenx = -1, t=0andwhenx=1,t=2

. dx _podt
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\ X
Answer

I[i—%]e“dx

Let 2x = t O 2dx = dt

Whenx =1,t=2andwhenx=2,t=4
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The value of the integral “ A is
A. 6
B. 0
C.3
D. 4
Answer
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Let] = f—dr

Also, letx=sinf = dv=cosfd8
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Let cotf = t [0 —cosec26 db= dt
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. 1
When & = sin '[ | t= 1\,-"5 and when # = f f=10

\3;'

Hence, the correct Answer is A.

. f(x)= L‘:sinufr.mcn_f"{x]is

A. cos x + x sin x
B. x sin x
C. x cos x
D. sin x + x cos x

Answer
f(x)= I;":simdr

Integrating by parts, we obtain
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_f'{x}zrf]sinrd.r— L{[i:] Isin :df}/dr
= [a‘[—cusr}]: - f{—cusr‘}dr

=[-tcost +sint];

=—XCOosX+sinx

= f'(x)= —[{x{—sin x}}+cosx]+ COS X
= l'sinx— COSX+COsX
=xsinx

Hence, the correct Answer is B.
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